Concentration Practice
Solve each problem:
1. What is the concentration by mass for each of the following solutions?
a. 20g of copper sulfate in 480g of water?

b. 30g of sodium chloride in 570g of water?

c. 40g of aluminum in 640g of alcohol?

d. 33g of potassium chloride in 409g of water?

e. 56g of tea in 2004g of water?

2. What is the concentration of each of these in ppm?

a. 0.003g of arsenic in 700g of water

b. 20g of copper sulfate in 480g of water

c. 0.0025g of sodium in 700g of water

d. 30g of sodium chloride in 570g of water

e. .09g of tin in 567g of water

f. 40g of aluminum in 640g of alcohol

g. 33g of potassium chloride in 409g of water?

h. 56g of tea in 2004g of water?

i. 0.00778g of mercury in 300g of water?

3. A saturated solution of NaCl contains 5g of NaCl in 100g of water.

a. What is the concentration of this solution?

b. What would the new concentration be if 200g of water were added?

4. A saturated solution of Al(OH)3 contains 67g of aluminum hydroxide in 100ml of water

a. What is the concentration of this solution?

b. What would the new concentration be if 34g of water were added?

5. A unsaturated solution of NH3 contains 7g of NH3 in 60g of water.

a. What is the concentration of this solution?

b. What would the new concentration be if 50g of water were added?

c. What if 12g of NH3 were added to the original solution?

